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Atoms and elements/compounds and mixtures

8E & 8F

26 min

26 marks

Q1-L3, Q2-L4, Q3-L4, Q5-L6, Q6-L7

1.
(a)


4
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It is lighter than air.

It is a good conductor of heat.

It is a good conductor of

electricity.

It stays shiny because it does

 react with oxygen.

not

It is a liquid at room

temperature.


if more than one line is drawn from any element, award no mark for that element
minimum mark zero

(b)
helium [image: image2.wmf]

1

if more than one box is ticked, award no mark

[5]

2.
(a)
N at top and S at bottom
both poles are required for the mark
1

(b)
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1

all three poles are required for the mark

(c)
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1

all five poles are required for the mark


(d)
steel
accept ‘iron’
1

accept ‘nickel’
accept ‘cobalt’

[4]

3.
(a)
very high melting point
answers may be in either order
1

good conductor of heat
do not accept ‘good conductor’
1

(b)
(i)
good conductor of electricity
do not accept ‘good conductor’
1

(ii)
can be compressed

1

[4]

4.
(a)
(i)
a mixture [image: image5.wmf]

1

if more than one box is ticked, award no mark

(ii)
a compound [image: image6.wmf]

1

if more than one box is ticked, award no mark

(iii)
any one from

1
  they are denser than the
accept ‘it is heavier than the liquid or the paint’
    liquid
accept ‘the solid particles are more dense or

heavier or too heavy’

accept ‘the solid is denser’

do not accept ‘solid particles are heavy’ without a comparison or qualifier eg ‘too heavy’


  the liquid is less dense than
accept ‘the liquid is less dense’ or ‘the liquid is
   the solid
lighter’
(b)
any one from

1
  it is insoluble in water
  water is not a solvent for the paint
  it dissolves in white spirit
  white spirit is a solvent for the paint

‘it is waterproof’ is insufficient

[4]

5.
(a)
copper 

1
oxygen 
carbon
answers may be in any order
all three elements are required for the mark
accept correct symbols for the elements
accept ‘sulphur' as one of the three elements

(b)
any one from 

1

· copper sulphide

· copper oxide 

· sulphur dioxide 

· carbon dioxide

(c)
sulphur dioxide
do not accept ‘carbon dioxide'
1

[3]

6.
(a)
(i)
A

1

(ii)
E

1

(iii)
C

1

(b)
any one from

1
  a compound contains two or more
accept ‘a compound contains different
   elements chemically combined
elements or atoms of different types
   or bonded
joined together’

do not accept ‘a compound contains two or more atoms joined together’

  a mixture contains two or more
accept ‘a mixture can be separated by
   elements or compounds or
physical means’
   substances not chemically
   combined or bonded

‘a mixture can be separated’ is insufficient

(c)
(i)
any one from

1
  name: oxygen    formula: O2
  name: hydrogen    formula: H2
  name: nitrogen    formula: N2
  name: chlorine    formula: Cl2
accept any other element which exists as diatomic molecules in the gaseous state 

both the name and formula are required for the mark

do not accept ‘O’ or ‘H’ or ‘N’ or ‘Cl’

(ii)
any one from

1
  name: carbon dioxide    formula: CO2
  name: water    formula: H2O
  name: sulphur dioxide  formula: SO2
  name: nitrogen dioxide or nitrogen oxide   formula: NO2
accept any compound with the formula XY2, eg magnesium chloride MgCl2
both the name and formula are required for the mark
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